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(A) ®]  W+®=©)] #ektt | = (0)| #ERktt (©)-(D)=(E)| (E/Dx100)
BENRE 13, 670, 450 A 2,338 13,668 112| 45.3] 0.0 13,860, 571| 46.9 A 192,459 A 1.4
A2 5,489, 414 A 2,640 5,486,774 18.2 0.0 5,445 286  18.4 41,488 0.8
HBhE 4,712, 144 302 4,712,446 15.6] 0.0 4,978,158  16.9 A 265,712 A 5.3
NMEE 3,468, 892 0 3,468,892 11.5| 0.0 3,437,127  11.6 31, 765 0.9
— BT RRE 10, 624, 636 492,327 11,116,963 36.8]  4.6] 10,244 ,432| 34.7 872, 531 8.5
W 4,844, 043 494, 447 5,338,490 17.7| 10.2 4,580,555  15.5 757, 935 16.5
HixmsE 210, 725 15, 171 225,896 0.7 7.2 227,303 0.8 A 1,407 A 0.6
HBNEE 5, 569, 868 A 17,291 5,552,577| 18.4] A 0.3 5,436,574|  18.4 116, 003 2.1
BENRE 3,156, 895 43,811 3,200, 706|  10.6 1.4 3,180,164  10.8 20, 542 0.6
T FEREy 3,156, 895 24, 000 3,180,895 10.5| 0.8 3,180, 164|  10.8 731 0.0
KEEIASEE 0 19, 811 19, 811 0.1 0.0 of 0.0 19, 811 0.0
FDDEE 2,232,219 0 2,232,219 7.3 0.0 2,252, 833 7.6 A 20,614 A 0.9
BEId 645, 523 0 645, 523 2.1 0.0 652,424 2.2 A 6,901 AT
BRERUVHES® 3,000 0 3,000 0.0 0.0 3,000 0.0 0 0.0
B4 13,000 0 13,0000 0.0 0.0 50000 0.0 8, 000 160.0
ek 1,520, 696 0 1,520, 696 50 0.0 1,542,409| 5.2 A 21,713 A 1.4
Flise 50, 000 0 50,0000 0.2 0.0 50,000 0.2 0 0.0
& 5 29, 684, 200 533,800 30,218,000 100.0 1.8 29,538,000 100.0 680, 000 2.3




